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& 1,800
- 4,200
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OX2SAHEEH SHAISHA 1,000, 000& 63| 6,000
< 1,800
= 4,200
NASEAN B8 ANIAY 5,416 4,980 436
= 2,708
= 813
= 1,895
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= 2,708
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OXESAL ZCOIUOIH XI& AL
20,660,500 x2H 41,321
= 20,609
< 5,564
e 15,148
XESAH ZOUOIH XI& AR (XEA) 12,144 11,065 1,079
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— LIRS BE R
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O S & AHdl 22l AF 88,056
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SA FOMED
M HH2AA
Chel: D= FH(FUMEY) (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEFAFH 4,200 4,200 0
203 @R =&l 4,200 4,200 0
04 FENSELR=LH 4,200 4,200 0
ORN2IYSF=AHI 350,000& »12& 4,200
2 B2 A 26,103 33,603 AT,500
201 L2l 26,103 26,103 0
01 At 2t 2l 23,795 23,795 0
O el 19,763
O= &l 4,032
02 3322l 2,308 2,308 0
03323 % HA 500
OsE=s ¥ 2503 %2,000= 500
OAIEZHI S X 1,808
04 dl 57,240 57,240 0
202 oddl 57,240 57,240 0
01 = LH o4 4l 57,240 57,240 0
OJl2H R0 200,000& 18" +x12& 43,200
O=W&Z0Hl 65,0003 x18H 128 14,040
Hees(=olaet) 498,746 459,399 39,347
WEHAX S (= MET) 498,746 459,399 39,347
o220 dztH s 2E3 498,746 459,399 39,347
701 JIEtI HEEES 498,746 459,399 39,347
01 JIEtl AN ES 498,746 459,399 39,347
OMBSXNELIHIASSHMGE]IEES 498,746




